==
N & o & AF & H Al A
AN XSEEH
PSS DN o 2 N el S
el NE3M 245 (9 ® =)
= - — L=
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
XS Z A 4,494,863 11,071,643 A6,576,780
= 187,890
Xl 704,000
J| 132,000
= 252,336
Al 3,218,637
AHZH ety 4,459,791 7,956,788 A 3,496,997
= 187,890
Xl 704,000
J| 132,000
< 252,336
Al 3,183,565
NEFH &dst 1,040,470 2,464,000 A 1,423,530
= 5,040
< 5,040
Al 1,030,390
SOt O 59,980 56,122 3,858
201 £B-2dH| 18,000 21,470 A3,470
01 At 22l 18,000 21,470 A3,470
OSitotE0® & 3MLs 16,880
OXNgSIHE 222 MA
1,000& = 5,00004 5,000
OdNsg A M
3,000 = 5008 * 43| 6,000
OZMEME 3 It M=
10,000& = 505 = 63l 3,000
Osietd &9 M
80,000& = 1804 = 23l 2,880
oXddNagds =& Sl
7,000& * 4Y « 102 43| 1,120
202 oddl 2,880 1,152 1,728
01 =i 4 1l 2,880 1,152 1,728
OMeAMEIA23 NEEH FAHYI
20,0003 = 4¥ = 32 « 123 2,880
203 YR =&t 6,000 6,000 0
03 A F=X AR =AY 6,000 6,000 0
OXNSZH 43t =& 5,000,000& 5,000
OZHMEBMES HRFA 1,000, 000& 1,000
301 g2 4= 23,100 17,500 5,600
09 SALEHIEA S 23,100 17,500 5,600
OS2I ZAL BLIHA 42A
50,000& = 33 = 143l 23,100
307 glz2tol & 10,000 10,000 0
02 IZtE M AHE L 10,000 10,000 0




2H: NSBR D
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e ANSBH 243t

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OAHIX HAES(&4gaA2Y) 10,000,000 10,000
Fetota3ga X 16,000 9,500 6,500
201 Let24d] 6,000 4,500 1,500
01 At 22l 6,000 4,500 1,500
O=eotad s 2435 XA 6,000
OHBIIAAL B2 212 M
1,000& * 3,00004 3,000
OBIHSL NHA L BEHE
100,000& * 30H & 3,000
301 gt d= 10,000 5,000 5,000
1MIIEBESS 10,000 5,000 5,000
oOsAgAs XA 100,000& * 1000H A& 10,000
HAHE ALY 954,410 976,863 A 22,453
306 43 954,410 976,863 A22,453
01 &3 954,410 976,863 A 22,453
OUHE EHEES 954,410,000 954,410
=2 2II2LUHE 29 10,080 7,560 2,520
= 5,040
< 5,040
301 et a3z 10,080 7,560 2,520
= 5,040
< 5,040
MIIEE4d3 10,080 7,560 2,520
o2 SIZ2LHE 2F
120,000& * 798 » 123 10,080
= 5,040
< 5,040
ANEsrS2el 2,222,260 3,129,530 A 907,270
Xl 704,000
< 95,325
Al 1,422,935
HEANE 2435t 66,640 29,210 37,430
201 L2l 3,240 2,690 550
01 At 22l 3,240 2,690 550
OXHSAZE 43t 28 822 1,960
O8=+=92 W 80,000& * 7K 560
OMEX M= 200& * 2,5000H 500
Os&22 MH 5,000& = 180H 900
OFZ, EE4AT Hesl &I 1,280
Og=+=92 M 80,0002 * 64 480
Os&E2 MH 5,000& = 1600H 800
203 YR =2l 1,000 1,000 0
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o TT o wE

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
03 A F=XH S =AY 1,000 1,000 0
OESAE 43R = 1,000, 000& 1,000
301 LA F 4,800 3,920 880
09 EALAHIE &S 4,800 3,920 880
ONSAIE AEI A2 WY
20,0008 = 3 * 160HAIE + 23] 1,920
OHZ, 224AF L5 &I DS
45,0008 * 4% ~ 160N E 2,880
307 21201 A 57,600 21,600 36,000
02 LAFLAFEX 57,600 21,600 36,000
OEImole B2 MOXE KA (BMHAR)
360,000& » 5% = 12& 21,600
OESAZE &ol o2l A&&X 8ilxor2 36,000
Osgotx4d 1,200,000& * 30 36,000
EFyAELs 2elHE 29 400,000 300,000 100,000
306 23 400,000 300,000 100,000
01 &3 400,000 300,000 100,000
OHFAl AFSH3 B2ATS S|
400,000,000 400,000
HSAE 243 OIHEZA 40,000 28,000 12,000
307 glz2tol & 40,000 28,000 12,000
04 QIZFHALAIH E = 40,000 28,000 12,000
OXHSAZE 43 OIHEHA XJ
2,500,000& = 1690 Al & 40,000
SELFAME HEE AL, ZAY @A FIL 3,000 3,000 0
307 gl2tol & 3,000 3,000 0
04 DI2HHALALSE E X 3,000 3,000 0
OBSS4AT 2 AL2AY A HIIX
2 3,000,000& * 12l 3,000
IS AE U #IHER) 7,000 7,000 0
307 21201 A 7,000 7,000 0
04 DIZHHALALSE E X 7,000 7,000 0
OE=ZRFAZ &E3 HA FIt
7,000,000& = 13l 7,000
HEAZ &0l 502 M=U3 22,000 20,000 2,000
307 21201 A 22,000 20,000 2,000
04 QIZFHALAIH B = 22,000 20,000 2,000
OESAZE &l sotsSHEUa
22,000,000 = 13 22,000
LA BT 32,900 34,520 21,620
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&S AERS2a (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
201 Lt 2,900 4,520 A 1,620
01 At 22l 2,000 2,000 0
O=2=+ 2228 MH
1,000& = 1,000% * 2& 2,000
03 & AL2 I 900 2,520 21,620
O==+I &¢ A3s Mz 900
Og=+=2 M 80,000& * 12 80
Of3aAs Uz oM 2,000& » 300% 600
OZA= 220
“JlI2ZAE 120,000& * 13l 120
“EUZAE 100,000& * 13l 100
403 Ut SHHSA=0l& 30,000 30,000 0
02 S| 2 S 0il CH &HCH & A B 30,000 30,000 0
O=ZA+H0OI2 FHBeIYH =29
30,000,000 * 13l 30,000
= AMEE 280,000 180,000 100,000
307 21201 A 280,000 180,000 100,000
08 OIXtEE 3 280,000 180,000 100,000
OXHZ= At 2 (Loan) At 280,000
OJl& 9,000,000,000& * 2% 180,000
Odl 57 10,000,000,000& * 2% * 1/2 100,000
HEANE AEINA A (XA 198,064 0 198,064
401 A& HI K 201 I 198,064 0 198,064
01 A& HI 197,848 0 197,848
OAFAZE St HEx B
20,000,000 * 14 20,000
O=RANE ==AIE 2= 80,000,000& * 1A 80,000
O=SRANE ==AE 2= AAIEHH
80,000,000& = 6.06% 4,848
OROIRAIZE OHHIOIE 2=
19,000,000& * 14l 19,000
O ESAE ME A7E E=
50,000,000 * 14l 50,000
OMEFMSAE SEH302 E2 (A2, X
018 82 S1) 14,000,000 * 14l 14,000
OUW==AZ =Xt& CCTVAXI(6J1)
10,000,000& * 14 10,000
03 A& = THHI 216 0 216
OAMEAZ stEA HaX 2= AIZ20UH
20,000,000& = 1.08% 216
HEANE AIE MEAMD(EX) 29,000 0 29,000
Xl 18,000
< 2,750




2H: NSBR D
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el AEgS2e

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o gﬁ‘&i HRE2
Al 8,250
401 A& HIZL 2 0HY| 29,000 0 29,000
N 18,000
& 2,750
Al 8,250
01 Al& H| 29,000 0 29,000
ONEANE ST AIEE S
29,000,000 * 14! 29,000
Xl 18,000
= 2,750
Al 8,250
0I2AIE DXL HE 231,656 400,000 A\ 168,344
N 138,000
= 23,000
Al 70,656
401 AlEHIZ £ 0HY| 231,656 400,000 A\ 168,344
Xl 138,000
= 23,000
Al 70,656
01 Al& H| 230,000 400,000 A 170,000
ORJOIFEAY DAHIJALAEH HE 230,000
OAl&Hl 230,000,000& = 14l 230,000
N 138,000
&< 23,000
Al 69,000
03 AlE 20| 1,656 0 1,656
OA&E S0t 230,000,000& * 0.72% 1,656
ANZAIZE LEDEEE DH 55,000 0 55,000
Xl 33,000
o 5,500
Al 16,500
401 Al HI L 2 0HHI 55,000 0 55,000
Xl 33,000
= 5,500
Al 16,500
01 Al&H| 55,000 0 55,000
OAMNEAIZE LED ZHS WA 55,000
OAl &l 55,000,000& * 14! 55,000
Xl 33,000
o 5,500
Al 16,500
SHEAIZE OLHOIE B4 70,000 0 70,000
Xl 42,000
= 5,250
Al 22,750
401 Al HI L 2 0HHI 70,000 0 70,000
N 42,000




PN RS- R )y
S AGSE M
S AEsS2

= - — SHE|
SN EE B (BH) - HRAY - BES e Hl D= 2t
< 5,250
Al 22,750
01 A& HI 69,370 69,370
O2FEAIE OHAHOEE S 69,370
OA &l 65,324,000& * 14 65,324
Xl 42,000
< 5,250
Al 18,074
O&A Al £ Al 70,000,000& = 5.78% 4,046
03 AlE 2 THHI 630 630
OAIE =TI 70,000,000& * 0.9% 630
JIZEHDIEAE OHAHOIE E= 60,000 60,000
Xl 36,000
< 4,500
Al 19,500
401 Al Bl 28I 60,000 60,000
Xl 36,000
< 4,500
Al 19,500
01 A& HI 59,460 59,460
OJIEHOIEAE OtloIEE 59,460
OAl&HI 55,992,000 * 14l 55,992
Xl 36,000
< 4,500
Al 15,492
O& A& 60,000,000& = 5.78% 3,468
03 Al 2 0HHI 540 540
OAIE S THHI 60,000,000& * 0.9% 540
S2AE OHOE RA(E2]) 727,000 727,000
Xl 437,000
< 54,325
Al 235,675
401 Al& I 28I 727,000 727,000
Xl 437,000
= 54,325
Al 235,675
01 A& HI 710,350 710,350
OSEAE OHAOCE BM(E2S) 710,350
OAl &I 685,777,000& * 14 685,777
Xl 437,000
< 54,325
Al 194,452
O& A& 727,000,000& = 3.38% 24,573
02 Zeltl 12,069 12,069
o eltl 727,000,000& = 1.66% 12,069
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PNRS-R: S Rel S
NEFS2el

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
03 Al S THHI 4,581 0 4,581
OAIE 24l 727,000,000& = 0.63% 4,581
ol LA Xl 22l 1,197,061 1,483,818 A 286,757
= 182,850
J| 132,000
= 151,971
Al 730,240
IIMAER2EAUILACHM 2| 507,790 703,306 A 195,516
201 Let24d] 3,950 2,250 1,700
01 At 2teltl 3,950 2,250 1,700
OJIMASR L JtActdz2e S22 M
1502 * 15,0000H 2,250
ONUX 2= M= 150& = 10,0000H 1,500
ONAZEI WH =22 200,000& * 1& 200
202 044l 3,840 1,056 2,784
01 = LH o4 1l 3,840 1,056 2,784
OHUKYD L HAZY =X
20,000& = 4% * 4 » 123 3,840
402 RIZEX201 A 500,000 700,000 A 200,000
01 It 2 AL B X 500,000 700,000 A 200,000
OZAIA 25 XNEAEY 500,000,000 500,000
ANEHNHRN(RERER) AL 5,700 1,200 4,500
= 2,850
Al 2,850
201 Let24d] 5,700 1,200 4,500
= 2,850
Al 2,850
01 At 2teltl 5,700 1,200 4,500
OXGUHUHX HAAY M2UK(2U)
600,000& » 2% « 13 1,200
=2 600
Al 600
OXGUHUHX HBAANY M2 (22)
4,500,000& * 1H = 13 4,500
= 2,250
Al 2,250
AITHAEO0 A X =X JALS 124,800 240,000 A 115,200
< 62,400
Al 62,400
402 RI2HXt20l ™ 124,800 240,000 A 115,200
< 62,400
Al 62,400
01 A TtEAEEX 124,800 240,000 A 115,200
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Sl X2l (&)
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SN BA(SA) - MRAY - BES 0l &t o il HImEET
O L Z =S E S AL (3kw)
1,200,000& * 104+ 124,800
< 62,400
Al 62,400
ATHAHNUHX HAS K3 A 145,200 177,240 A 32,040
< 72,600
Al 72,600
402 RIZEX20l A 145,200 177,240 A 32,040
< 72,600
Al 72,600
01 It 2 ALEE X 145,200 177,240 A 32,040
OHIgelAlE B2 XA
660,000& = 220kw 145,200
= 72,600
Al 72,600
HANE dEaE o MY 188,571 80,000 108,571
J| 132,000
< 16,971
Al 39,600
401 A& HIZ 201 Y| 188,571 80,000 108,571
J| 132,000
< 16,971
Al 39,600
01 A& HI 188,571 80,000 108,571
OFLHE HASSSTAAL (2HA)
188,571,000& * 14l 188,571
J| 132,000
< 16,971
Al 39,600
MBIE JtAAE HEAE 225,000 282,072 A57,072
= 180,000
Al 45,000
403 UHXSHHSA=0l& 225,000 282,072 A57,072
= 180,000
Al 45,000
02 S| 2 S0l CH &HCH & A H 225,000 282,072 AB7,072
ONRE IIAAAE e ALY
225,000,000 * 13l 225,000
= 180,000
Al 45,000
HE2HAZH (XS ZHD) 35,072 45,646 A 10,574
Jl=&l 35,072 45,646 A 10,574
JlE&l 35,072 45,646 210,574
201 Let249] 14,672 18,766 A4,094
01 At 2teltl 14,672 18,766 A 4,094
OJlegs® =d&s Al 7,112,000& 7,112
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X ZH -
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el

PRS- DS
HY2LZH (XSS M)
Jl=23tl

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET

OJIEZ Ul (S4l) 7,560,000 7,560

202 44l 16,200 22,680 A6,480

01 = LH o4 1l 16,200 22,680 A 6,480
OJIEZ 16,200, 000& 16,200

203 R =&t 4,200 4,200 0

04 FEN2ELRZ=TH| 4,200 4,200 0
©J| & % (302! 0I3dt) 350,000& = 12& 4,200




